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Cumulative R&R: Retrieve & Retain
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()] ()] ()] ()] ()] (] (] ()]
S 22323 8=3 ==
1 | Recognise the place value of any number
2 | Comparing negative numbers
3 | Rounding
4 | Median
5 | Mental addition and subtraction
6 | Written methods for addition and subtraction (integers)
7 | Written methods for addition and subtraction (decimals)
8 | Perimeter
9 | Tables and timetables
10 | Frequency trees
Week 1
Question 1 Question 2
Write down the value of the 6 in the number | Insert the correct symbol, < or > between the
13 629 following values:
0 -3
Question 3 Question 4
Round 376 to the nearest 100. Work out the median of this set of numbers:
3 2 1 4 5
Question 5 Question 6
Calculate 4 + 7 Calculate 452 + 383
Question 7 Question 8
Calculate 78.12 + 35.84 Calculate the perimeter:
Question 9 How long does train A take? Question 10
120 people were asked if they prefer
Train A B c tea or coffee. 58 of the people were
Birmingham 06 35 0700 0715 male. 35 of the females preferred tea.
London 08 09 08 39 08 48 65 of the people preferred coffee.
Complete the frequency tree.




Week 2

Question 1
Write down the value of the 4 in the number
9048

Question 2
Insert the correct symbol, < or > between the
following values:

-8 -5

Question 3
Round 5829 to the nearest 1000.

Question 4
Work out the median of this set of nhumbers:
6 3 3 4 2 5 4

Question 5
Calculate 18 + 9

Question 6
Calculate 741 — 228

Question 7
Calculate 912.4 + 9.3

Question 8
Calculate the perimeter:

4.5m

Question 9 How long does train B take?

Train A C

Birmingham

London

Question 10

Caleb asks 80 people if they prefer
cola A or B. 41 of the people asked
were male. 22 of the 50 people that
prefer cola A are female. Complete
the frequency tree.

Week 3

Question 1
Write down the value of the 2 in the number
328 407

Question 2
Insert the correct symbol, < or > between the
following values:

-27 -30

Question 3
Round 2437 to the nearest 100.

Question 4
Work out the median of this set of numbers:
63 65 65 70 72 86 90

Question 5
Calculate 24 -7

Question 6
Calculate 861 + 39

Question 7
Calculate 893.57 - 35.04

Question 8
Calculate the perimeter:

Question 9 How long does train C take?

Train A C

Birmingham 06 35 0715
London 0809 0848

Question 10

500 people were surveyed.
53 people are left handed.
26 males are left handed.
231 of the people are male.
Complete the frequency tree.




Week 4

Question 1
Write down the value of the 9 in the number
79 813.

Question 2
Insert the correct symbol, < or > between the
following values:

-26

Question 3
Round 1485 to the nearest 1000.

Question 4
Work out the median of this set of numbers:
5 18 10 14 22 12

Question 5
Calculate 24 - 8

Question 6
Calculate 8710 - 374

Question 7
Calculate 176.91 + 5.2

Question 8
Calculate the perimeter:

"

Question 9 Write down the distance between
Los Angeles Los Angeles and San Francisco

4373 Miami

4539 2133 San Francisco

Question 10

80 people were asked if they like

football. 47 of these people were

men, the rest are women. 7 of the

men do not like football. 65 of the 80

people like football. Complete the frequency tree.

Week 5

Question 1
Write down the value of the 2 in the number
2983 154.

Question 2
Insert the correct symbol, < or > between the
following values:

-10 -13

Question 3
Write 2.79 correct to 1 decimal place.

Question 4
Work out the median of this set of humbers:
2 10 7 6 10 9

Question 5
Calculate 65 + 6

Question 6
Calculate 1042 + 861

Question 7
Calculate 1056.28 - 35.3

Question 8
Calculate the perimeter:

26¢ 26cm
10cm

48cm

Question 9 Write down the distance between
Los Angeles Los Angeles and Miami
4373 Miami

4539 2133 San Francisco

Question 10

120 people were given 3 minutes to

solve a puzzle. 45 people who tried to

solve the puzzle were under 18 years

old. 78 people solved this puzzle. 32

people age 18 and over did not solve the puzzle.
Complete the frequency tree.




Week 6

Question 1
Write down the value of the 8 in the number
97 824.

Question 2
Insert the correct symbol, < or > between the
following values:

-17 -16

Question 3
Write 0.4726 correct to 1 decimal place.

Question 4
Work out the median of this set of numbers:
45 38 43 39 40 39

Question 5
Calculate 57 -9

Question 6
Calculate 6179 + 83

Question 7
Calculate 8619.3 —41.58

Question 8
Calculate the perimeter:

Question9 How long does the 06 53 train
take to get to Nuneaton?

Birmingham 0623 | 0653 | 0723
Coleshill 0635 | 0705 | 0735
Nuneaton 0700 | 0722 | 0751

Week 7

Question 10

200 people travelled to an event by

bus or by train. 58 people travelled by
train. Of the people who travelled by
bus, 40 were late. 71 people were late to
the event. Complete the frequency tree.

Question 1
Write down the value of the 8 in the number
4 987 235

Question 2
Insert the correct symbol, < or > between the
following values:

-17 65

Question 3
Write 3.84761 correct to 3 decimal places.

Question 4
Work out the median of this set of numbers:
5 3 10 2 7 3

Question 5
Calculate 8 + 53

Question 6
Calculate 4132 - 83

Question 7
Calculate 65.781 + 109.2

Question 8
Calculate the perimeter: ~ 5cm

Question 9 Write down the distance between
Boston Chicago and Los Angeles

1589 Chicago

4891 3366 Los Angeles

Question 10

50 year 11 students were surveyed

about whether they studied

Geography or not. 21 students studied
Geography. 15 students studied Geography
and Art. 19 students didn’t study Geography
or Art. Complete the frequency tree.




Week 8

Question 1
Write down the value of the 1 in the number
14 287

Question 2
Insert the correct symbol, < or > between the
following values:

-45 -42

Question 3
Write 18.1693 correct to 2 decimal places.

Question 4
Work out the median of this set of numbers:
3 5 8 9 12 12 16

Question 5
Calculate 93 -6

Question 6
Calculate 983 + 2012

Question 7
Calculate 134.98 — 29.09

Question 8
Calculate the
perimeter:

Question 9 How long does the 07 23 train take to
get to Coleshill?

Birmingham 0623 | 0653 | 0723
Coleshill 0635 | 0705 | 0735
Nuneaton 0700 | 0722 | 0751

Question 10

160 students in Y10 had some homework.
73 of these students are boys. 64 of the
160 students did not do their homework.
39 of the girls did do their homework.
Complete the frequency tree.




N3 Multiplication, Division and their

Applications

Multiplication

An arithmetical operation, defined initially in terms of repeated addition.

Division The arithmetical process of dividing one number into another number.
Metric An international decimal system of weights and measures.
Product The result of multiplying two or more numbers or terms together.
Decimal A number that is not whole, as it lies between whole numbers.
Area The measure of space in two dimensions contained within a boundary.
Mean The single value that if all numbers in a list are changed into, maintains the total

of the list.

Square number

An integer multiplied by itself makes a square number.

Cube number

An integer multiplied by itself and then itself again makes a cube number.

Square root

A value that, when multiplied by itself, gives the original number.

Cube root A value that, when multiplied by itself and then by itself again, gives the original
number.

Operation Operations in mathematics refer to the basic mathematical actions or processes
used to perform calculations and solve problems.

Multiples The result of multiplying a positive integer by another positive integer.

Lowest Common Multiple

The smallest integer which is a multiple of two or more positive integers.

Factors

A factor is a positive integer that will divide exactly into a given positive integer.

Highest Common Factor

The largest integer which is a factor of two or more given positive integers.

Prime Number

A positive integer with precisely two distinct factors.

Composite Number

A positive integer with three or more factors.




N3 Multiplication, Division and their
Applications

Answer
Multiplication is an operation, defined
initially in terms of addition.
Division is the arithmetical process of one
number another number.
The system is an international decimal system
of and
A product is the of two or more

numbers of terms together.

A decimal is number that is not ,as it lies
whole numbers.

The area is a measure of in two dimensions
contained within a boundary.

The is the single value that if all numbersin a
list are changed into, maintains the total of the list.

An integer multiplied by makes a square
number.
An integer multiplied by and then by itself

makes a cube number.

A square root is a value that, when multiplied by
, gives the original number.

A cube root is a value that, when multiplied by
and then by itself , gives the original number.

Operations in mathematics refer to the basic
mathematical actions or used to perform
and solve problems.

Multiples are the of multiplying a positive
integer by another positive integer.

The lowest common multiple is the integer
whichis a of two or more positive integers.

A factor is a positive integer that will divide
into a given positive integer.

The highest common factor is the integer
whichis a of two or more given positive
integers.

A prime number is a positive integer with precisely
distinct

A composite number is a positive integer with
or more factors.




N3 Multiplication, Division and their Applications

1. Write the fact family for this bar model.

X =
36 X____=
9 |9 |9 |09 .

2. Answer the following:

3. Fill in the blanks:

a) 24+6= ||| @) 24x10= !
LR ] s S |
(RS S § A SN
o sxiz= [ e amacesl
e | I
R | L
g 11x12= & ‘e vi8xi0=

h) 108+12= !

) 51x0= i__________________J ) 783x) | =783
T ] [T

4. Given that 27 x 34 =918, work out:

) 27x34= b ewseo-f
B o270x34=]  le ewseaz= |
¢ o918+340= L) 27x34= 0




N3 Multiplication, Division and their Applications

5. Complete the following tables:

Centimetres Metres Millilitres Litres Grams Kilograms
100 1000 1000
170 350 1400
11 9 12
Millimetres Metres Millilitres Centilitres Grams Kilograms
1000 100 150
150 480 1.6
12 22 3.2
6. CaIcuIate:I __________ . R — . - .
| | |
a)34x7= | b)23x35= | | )341x56= i
e e = = e e = = e e e e e e e
7. CaIcuIate:I __________ . R — . mmmm - .
| | |
a)2.4x7= ' b)7.3x35= ' ¢)3.4x5.6=1 i
e e = = e e = = e e e e e e e

8. Calculate, leaving your answers as decimals where appropriate:
|

__________ - [y hging nf ufind
1

. |
a)135+3 =" , b)222 +5=! i c)76.81+4=: i




N3 Multiplication, Division and their Applications

9. Work out the areas of each of these shapes:

a)  6em b) c) d)
4c|m
13cm |
20cm | -1 -1
8cm | L 7cm
: ; 10cm
> — : '
¥2cm I
i o | i | A ":
Lmmmmm e Lo Lo :____________!
e) B 8) h)
3cm 9cm
2cm
9c 8cm 8cm 5em
3cm 4ecm
A 4 v
140mm 7cm rem
i o | i | A ":
Lo e 2 . Lo o]
10.
Given the areas of the shapes below, find the missing side lengths:
ST T T T L]
a) Tt TTTTT T K C) : :
7cm | : S —
Lo )
? Area = 63cm? Area = 24cm?
6cm
8cm oo i
b) d) ] :
6cm ? Area = 40cm? ?
12cm
___________ A _ 2
| | Area = 100cm 7em
Lo

11



N3 Multiplication, Division and their Applications

1.
a) Calculate the meanof3,5,6,7,14 i i
e e e e e e e = = === ——— 1
b) Calculate the mean of 3,5,6, 7, 8 i i
S |

for all of the numbers?

e e e e e e e e e e e e e e, e e e ————- 1

12. Answer the following: 13. Answer the following:
m oo MNa 6-3+2= 1 i
a) 22= | ! L e
"""""""""""" b) 6+ 3x2= | i
b)5%= o+ g e+3x2= 1+ i
e o 8x@z=r
OV36= | . CTIIIIIIIIIIIIIINN
e) (8—4)+2=i |
3 il el | 2 st TS ST T T E T s e ’I
d) 27: : : f) 4+3 —2: : |
g) 2x(5+10)2 = |

14.

a) List the first six multiples of 7. !

b) List all the factors of 36. : i
1




N3 Multiplication, Division and their Applications

Circle the prime numbers in the list below.

16.

Calculate:

a) 60x0.1= ! I

b) 53x0.1= |

c) 400x0.01= ! |

d) 330x0.01= | !

e) 18+05= | .

f) 23:0.1= | :

1 1
g) 40:02= ! !




N3 Multiplication, Division and their Applications

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8
/4 /10 /10 /6 /6 /3 /3 /3
A B C D E F G H
Q9 Q1o Q11 Q12 Q13 Q14 Q15 Q16
/8 /4 /5 /4 /7 /4 /1 /7
I J K L M N 0] P

Complete these sections for the questions you didn’t get full marks on

14




N3 Multiplication, Division and their Applications

Section A
Write the fact families for each bar model.

18 35 20
6 6 6 7 7 7 7 7 5 5 5 5
X = X = X =
X = X = X =
Section B Section C

Answer the following: Fill in the blanks:

a) 36:6= 1  ifla)2ax0=
AL R § e S
CCSLEI N C A
oexiz= L e asswwost ]
R | P ——
R S R —
9 oxize [ g ammanesl

h) 110+ 11=

i) 48x0= | ) 7.83x: 1 =783
T T T T T TS s T 1 I"""""I

) 67x1= ! N DR ' +1000=0.131

Section D

Given that 37 x 43 = 1591, work out:

a) 37x43= 1d)

b) 37x430= le

¢) 1591+370=! 'f)  37x43= ! l




N3 Multiplication, Division and their Applications

Section E
Complete the following tables:
Millimetres | Centimetres Centilitres Litres Grams Kilograms
10 100 2000
52 350 4500
14 9 19
Centimetres Metres Millilitres Litres Grams Kilograms
200 2000 0.5
980 3200 12.4
45 43 56.4
Section F
P — = ———— 1
a) 65x8= i i
Ir '''''''''''''''''''''' 1
b) 9x73= ! :
|
Ir """""" 1
c) 89x6= | I
|
I' """""" 1
d) 53x47= ! :
|
Ir """""" 1
e) 19x36= | I
|
Ir """""" 1
f) 32x66= . :
! 1
I' """""" 1
g) 281x79= | :
! 1
Ir """""" 1
h) 14 x562 = | :
! 1
Ir """""" 1
i) 781x59= | :
! 1




N3 Multiplication, Division and their Applications

Section G

a) 9.5x8= ! I

b) 6x7.3= i .

c) 89x5= i I

d) 43 x57= 1 |

e) 18x3.6= i .

f) 3.2x96= i |

g) 2.8x7.9= I X

h) 1.4x5.2= : :

) 7.1x59= | !
1

Section H

1 1
a) 144+3= ! !

b) 164+4= E i

c) 195+5= E E

d) 190+8= E E

e) 190+6= E E

f) 164+5= E i

g) 52.8+3= E i

h) 52.4+4= E i

1 1
i) 524+:8= ! !




N3 Multiplication, Division and their Applications

Section |

Calculate the areas of the following shapes:

1lcm
a) 17cm b) Bem c) 9em d)
Zem 3cm 3cm 6mm
Bem
| ----------- .: | ----------- .: | ------------ I ----------
! X 1 | I | 1
! | ! | ! | !
L= = L e e e m L e e e e e e I,
: 21mm 23m
/ Scm /racm 5°V 4em / e m o
NN a ' X
Scm 12cm J0mm
-ttt Tt T T ‘I -ttt Tt T T ‘I oottt T T T ':
! 1 ! | ! 1
! 1 ! 1 ! 1
L e L e e e e e L
h) i) ¢+ j)
7cm 15cm
9cm
12c
v v
150mm 13cm
T i T i
| : ! | I :
L e e e e m L bk e e e =
k) ) m)
6cm ;
4cm 3cm
9m
6cm
1lcm 5m 1lem
3cm &m
10cm 20em
1Z2m
cTTTTTT T T ': cTTTTTT T T ': cTTTTTT T T ':
| I ! I
! I ' I ! ;
L - L e e e e e e e e e L -

18



N3 Multiplication, Division and their Applications

Section J
Given the areas of the shapes below, find the missing side lengths:
?
a) ? b) ? c) , d)
Qcm
7cm | Area=42cm? 3cm 3cm ?
— 2 - 2
Area = 18cm Area = 36cm Area = 64cm?
i | | | 5 o |
Lomemmemo o Lo e 2 Lo e 2 Lo

Area = 45¢cm?

e) a0

Scm
. 1
1
i |
h)
Area = 120cm?
12c
\ 4
?
. 1
1
i |
k)
6cm
Area = 78cm?
1lem
?
10cm
T Tttt T ':
| |
L -

n e f)
/ ? //E:cm BCV §4cm
LY i'l

Area = 90mm?

g)
/ ? 23mm
? 3[3"."||""
s T 1 ST T T 1
| | | :
IR, Lo
i) ¢+ j)
- 2
Area = 65cm > 15cm
?
v Area = 45cm?
13cm

ro Tt TTTTTT T 1 Tttt 1

| . : .

Lo e 2 Lo
) Area=111cm? M) Area = 136cm?

4cm ?
9m
6cm

5m 11cm

?
20cm

o lem o .
! 1 ! 1
: ! : 1
Lmmmmm e Lmmmmm e

19



N3 Multiplication, Division and their Applications

Section K e .
a) Calculate the meanof4,6, 7,8, 15 ! !
b e e e e e e e e e e e e e e = = — |
b) Calculate the mean of 4,6,7,8,9 i i
S |

for all of the numbers?

L e e e e e e e e e e 1

Section L Section M
Answer the following: e \
e Clla) 6+3-2= | !
a) 4 ' I CTTTITIIIIIIIIILLT
I'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_j b) 6+2x3= | !
b) 52 ! I "_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_j
I'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_j c) 6x3-2= | !
c) 102 ! : "_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_j
I'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_j d 6-3+2= : !
d) 23 | : "_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_:
I'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_: e) (8+4)+2= : !
e) 63 | I :'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_‘1
I'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_'_: f) 8+(4+2)=: :
f) 103 ! I CTTIIIIIIICIooCIIIIL
CTTTTTTIITIITITII T 8) (B+4)x(2+6) = l

|

g) V225 ! : ooofrzrrzzrozoooo
ST h) 42342 = I
1 1 L e e e e e
h) V64 : |
------------------- )5+4x3+2%2= | !
R ettt . L e e mm e mm e 1
. I 1 [mm e e e — =
i) V81 P | ) W R !
__________________ . e
w3 ! 1 |
j) V125 e 2 x B3 + 1002 = !
_______________ |
- Tt T T T T T s s T T s E T 1 [m—mm———— e —————
k) 3216 L ihhe+sy x10= ! |
_______________ |




N3 Multiplication, Division and their Applications

Section N

a) List the first six multiples of 6. | '

— - - ———

b) List the first six multiples of 9. | !

— - - ———

c) List the first six multiples of 14. ! |

— - - ———

d) List all the factors of 24. ! :

e) List all the factors of 56. ! :

— - - ———

f) List all the factors of 90. ! :

g) Work out the highest common factor of 15 and 48. 1 ,

1
h) Work out the highest common factor of 35 and 15. ! |

— - - ———

i)  Work out the highest common factor of 52 and 64 . !

— - - ———

j)  Work out the lowest common multiple of 15 and 8. . |

k) Work out the lowest common multiple of 12 and 15. . !

— - - ———

Section O
Circle the prime numbers in the lists below.

a)

c)




N3 Multiplication, Division and their Applications

Section P

Calculate:

a) 70x0.1= ! I

b) 80x0.1= |

¢) 120x01= E

d 96x0.1= ! !

e) 19x0.1= X !

f) 64x0.1= 1 1

g) 500x0.01= ! !

h) 900x0.01= ! -

i) 430x0.01= ! -

1 1
j) 567x0.01= ! !

kf 26+05= | :

) 78+05= | :

m) 65+0.1= ! I

n) 39+0.1= ! I

0) 72+0.2= ! I

1 1
p) 106+02= :




N4 Negative Numbers

Positive All numbers which appear to the right of the 0 on a number line.
Number
Negative All numbers which appear to the left of the 0 on a number line.
Number
. Denoting a scale of temperature on which water freezes at 0° and boils at
Celsius o "
100° under standard conditions.
Zero pair A set of two numbers that when added together equal zero. The two numbers
P must include one positive and one negative number.
Addition The process of calculating the total of two or more numbers.

Subtraction

A mathematical operation in which the difference between two numbers or
guantities is calculated. Usually indicated by the symbol ~.

Multiplication

An arithmetical operation, defined initially in terms of repeated addition.

Division The arithmetical process of dividing one number into another number.
Operation Operations in mathematics refer to the basic mathematical actions or
processes used to perform calculations and solve problems.
Powers A way of showing a number is multiplied by itself a certain amount of times.

23




N4 Negative Numbers

Positive numbers are numbers which appear
to the of the on a number line.

Negative numbers are numbers which appear

to the of the on a number line.
Celsius denotes a scale of on
which water freezes at ° and boils at

° under standard conditions.

A zero pair is a set of two numbers that when

together equal . The two
numbers must include one and
one number.
Addition is the process of the

of two or more numbers.

Subtraction is a mathematical operation in

which the between two numbers
or quantities is calculated. Usually indicated
by the symbol .

Multiplication is an operation,
defined initially in terms of

addition.

Division is the arithmetical process of
one number another
number.

Operations in mathematics refer to the basic
mathematical actions or used to
perform and solve problems.

Powers are a way of showing a number is
by itself a certain amount of
times.




N4 Negative Numbers

a) -3
| 1 [ 1 1 [ 1 [l [ [
I I I I I L] L) I ] ] ]
.10 9 -8 -7 -6 -5 -4 -3 -2 -1 0
b) -6
| 1 [ 1 1 [ 1 [l [ [ ]
I I I I I L] L) I ] ] ]
-10 0
o -7 O- d-9 O0- e)-12 T
— - _6 -
-+ 34 10+
-10 4 A 4

2. Arrange the following temperatures in order, from lowest to highest.

25



N4 Negative Numbers

Write down the number that each set of counters represent:

a) positive |. . . p) Positive |
negative | negative |. . . .

g posi’rivel ) posiTive|

negative | . . negative | | . O .

________________________

4,
Calculate:
a) 6+1=" l
e e e e e e e e e e e e e e e e e e e e e e e e o e o = = - — 1
b) -3+9=, :
e e e e e e e e e e e e e e e e e e e e e e e e o e o = = - — 1
c) 6-3=| :
e e e e e e e e e e e e e e e e e e e e e e e e o e o = = - — 1
d 6--4=, :
e e e e e e e e e e e e e e e e e e e e e e e e o e e o = - — 1
N
e) -5--9=1 -
e e e e e e e e e e e e e e e e e e e e e e e e o e e o = - — 1
5. 6.
Calculate: Calculate:
Tt T T | Tt T 1
a) 2x-3= : : a) 9+-3= : :
ZIzzzzzzzzzs SIIzzzzzzzzs .
b) 5x-8= L ! b) 44+11= | ] :
I- ----------- 1 I- ----------- 1
c) -11x10= L | c) -48+-8= oo !
I- ----------- 1 I- ----------- 1
d -9x2x-2= ! ! d -120+2x-2=, :

26



N4 Negative Numbers

Calculate:

a) 2.2x-10=
b) -6.2x-3=

¢) -17+-10=

_________________________________

Calculate:

a) —22%=

b) —53=

d) ¥/—27=

9.

Calculate:

a) ((15+3)+(-12+3)= | i

b) -6x2--14=

c) (-22+2)-2x4= : i

d) 5x(-2x5)?=

e) -42-5x(-2)=

_________________________________

_________________________________

27



N4 Negative Numbers

Complete these sections for the questions you didn’t get full marks on



N4 Negative Numbers

Section A

Position the following numbers on the number lines:

a) -3 | 1 I ! I ! ! ! i 1 :

I L | L I ! I 1 l l |
b) -6 | I I I | I I I ] ) ]
-10 0
c) -4 | | | | l | | | l I .
-10 0
d) -7 and-4 e)-9and -6 f) -12 and -18

0-r 0-r T

P - -6+

-+ -3+ -10

10 i 4




N4 Negative Numbers

Section B

Arrange the following temperatures in order, from lowest to highest.

Section C

Write down the number that each set of counters represent:

a) b)
+ OO +
c) d)

30



N4 Negative Numbers

Section D
Calculate:
a) 5+1=
L e e e e e e e e e e e e e o o o = — 1
b) -1+1=
e e e e e e e e e e e e e e o o o = = — 1
Q) 4+2=
L e e e e e e e e e e e e e o o o = — 1
d) -9+8= |
L e e e e e e e e e e e e e o o o = — 1
e) -4+7-= X :
L e e e e e e e e e e e e e o o o = — 1
f) -6+10= E__""““""“"“"""“"_":
e e e e e e e e e e e e e e o o o = = — 1
g) -7-5=
L e e e e e e e e e e e e e o o o = — 1
h) -3-8=
et
i) 5--4= ! !
e L
i)y 9--3= | |
e e e e e e e e e e e e e e o o o = = — 1
k) -6--5= |
e
) -11--8= | !
Section E Section F
Calculate: Calculate:
____________ 1 1
a)4x-3= E E a)4+-2= Lo |
____________ P
b)7x-2= E E b)15+-3= Lo ] |
__--_-_------.C FTTTT T T T T TS 1
C)-6x-4= | E c) 66 + -6 = L] :
o __-_-_-_----c-C T TTTTTTTTS |
d)-9x-7= E E d)8l1+-9= L |
__------Z-Z-:-:C y T T T T T T T ]
e)-12x3= E E e)-42+-7= L |
Z----Z--ZzZzZ:zZ: Tt T 1
f)-9x5= E E f)-28+-4= Lo :
____________ P
g)-3x4x-5= E E g)-36+6+-2= | |
Sooo-o-o-ooDoo:o TTTT Tt T i
h)5x-6x-2= ! i h)-100+-4+5=| | :




N4 Negative Numbers

Section G

Calculate:

a) 3.6x-10= | :

e |
b) 9.35x-10= E___"__"""""'---------______é
c) -9.5x-7= g_"""""""""------------___E
d) -6.4x-8= E.-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-___-_-j
e) -19+-10= i'-----------_-.-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_qi
f) -25.4+-10= E__"___""""""----------___.é
g) 12.8+-5= E_"__"""""""------------__E
h) 29.68 +-8= E____""""""'------------____E
i) -229+-5= E_-__"__"""'"""'---------__.é
j) -43.29+-9= E--_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-_-___-_-j

Section H

Calculate:

a) —3%= | :
e e e e e e e e e e e e e e e e e e e e e e e e o e e o = - — 1

b) —43= : :
e e e e e e e e e e e e e e e e e e e e e e e e o e o = = - — 1

c) Give both solutions: V49 = 3 I

d) /—64= : |




N4 Negative Numbers

Section |

Calculate:

__________________________________

a) (-20+4)+(-18+3)= | .

|
b) -7x3--12= : l
1
c) (-33+3)-3x5= ! l
|
d) 3x(-3x4)= ! :
1

e) -52—6x(-3) = ! l
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